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Note : (i) Question No. 1 is compulsory. 

 (ii) Attempt any six questions from 

question nos. 2 to 8.  

 (iii) Draw well labelled diagrams 

wherever necessary. 

1. (a) Define the following : 5×1=5 

(i) Brachiation 

(ii) Diaphragm 

(iii) Marsupium 

(iv) Neoteny 

(v) Poikilotherms 
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(b) Match the items in Column A with 

those in Column B : 6×1=6 

         Column A         Column B 

(i) Amphibians (1) Short intestine 

with no caecum 

(ii) Shark (2) Tundra region 

of high arctic 

(iii) Whalebone 

whale 

(3) Webbed and 

lobbed feet  

(iv) Insectivore  (4) Metamorphose 

from aquatic to 

terrestrial form 

(v) Musk ox (5) Placoid scales 

and 

heterocercal 

tail 

(vi) Duck (Anas) (6) filter feeding 

(c) Name the order to which the following 

belong : 4×1=4 

(i) Canis lupus (Wolf) 

(ii) Elephas maximus (Elephant) 

(iii) Camelus domodarius (Camel) 

(iv) Giraffa camelopardalis (Giraffe) 
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2. (a) Discuss the salient features of class 

Arcidiaceae. 5 

(b) Explain the basic adaptive features of 

Urochordates.  5 

3. (a) Describe the respiratory system of birds 

in view of its aerial mode of life.  5 

(b) Describe the digestive system of a 

ruminant herbivore vis-a-vis its dietary 

habit.  5 

4. Describe the evolution of aortic arches with 

the support diagrams only. 10 

5. (a) Discuss the differences between 

cartilage and bone. 5 

(b) Describe the types of vertebrae found in 

chordates.  5 

6. (a) Describe the pituitary of bony fishes 

with the help of a diagram.  5   

(b) Discuss associative learning in view of 

Pavlov’s classical experiment.  5 



 [ 4 ] LSE–10 

D–3271/LSE–10 

7. Discuss the various ways of mimicry in 

animals by which they defend themselves 

and their young ones.  10 

8. Write short notes on any two of the  

following :   2×5=10 

(a) Echolocation in aquatic animals  

(b) Specialized teeth in mammals  

(c) Olfactory organs in vertebrates  

(d) Living fossils  
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LSE–10 

foKku Lukrd (ch- ,l&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&10 % izk.kh fofo/krk&II 

le; % 3 ?k.Vs   vf/kdre vad % 75 

uksV % (i) iz'u la- 1 vfuok;Z gSA 

 (ii) iz'u la- 2 ls 8 rd fdUgha N% iz'uksa ds mÙkj 

nhft,A 

 (iii) tgk¡ dgha vko';d gks] ogk¡ lqukekafdr fp= 

cukb,A 

1- (d) fuEufyf[kr dks ifjHkkf"kr dhft, % 5”1=5 

(i) ckgqxeu (czSfd,'ku) 

(ii) Mk;kÝke@e/;iV 

(iii) f'k'kq/kkuh@eklqZfi;e 

(iv) fpjHkzw.krk@fpj¥MHkrk 

(v) vlerkih tho (iksbfdyksFkElZ) 
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([k) dkWye ‘A’ dk dkWye ‘B’ eas fn, x, vk;Veksa ls 

lqesy dhft, % 6”1=6 

dkWye ‘A’ dkWye ‘B’ 

(i) mHk;pj@ 

,EQhfc;u 

(1) y?kq vk¡r vkSj dksbZ 

lhde@va/kuky 

ugha 

(ii) 'kkdZ (2) mPp vkdZfVd esa 

Vq.Mªk {ks= 

(iii) frfe'k`axkfLFk 

Ogsy@Ogsycksu 

Ogsy 

(3) tky;qDr vkSj 

ikfy;qDr ikn 

(iv) dhVkgkjh@ 

balsDVhoksj 

(4) tyh; ls LFkyh; 

:i esa dk;karfjr 

(v) dLrwjh cSy@ 

eLd cSy 

(5) iV~VkHk 'kYd vkSj 

fo"keikfy 

(gsVsjksldZjy) iw¡N 

(vi) cÙk[k (,ukl) (6) fuL;anh v'ku 

(fQYVj Qh¥Mx) 
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(x) ml vkWMZj (x.k) dk uke crkb, ftlds ;s lnL; gSa % 

    4”1=4 

(i) dksful yqiql (HksfM+;k) 

(ii) ,yhQl eSDlhel (gkFkh) 

(iii) dSehyl MkseksMsfj;l (Å¡V) 

(iv) ftjkQk dSfeyksiksMsZfyl (ftjkQ) 

2- (d) oxZ ,lhfM,lh dh izeq[k fo'ks"krkvksa dk o.kZu 

dhft,A  5 

([k) ;wjksdksMsZV~l dh ewy vuqdwyh fo'ks"krkvksa dk o.kZu 

dhft,A  5 

3- (d) if{k;ksa ds 'olu ra= dk muds ok;oh; thou dh 

n`f"V ls o.kZu dhft,A 5 

([k) ,d jkseUFkh 'kkdkgkjh tho ds ikpu ra= vkSj mldh 

vkgkjh; izÏfr dk o.kZu dhft,A 5 

4- egk/keuh pkiksa ds fodkl dk o.kZu flQZ lgk;d fp=ksa 

dh lgk;rk ls dhft,A 10 
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5- (d) mikfLFk vkSj vfLFk ds chp vUrj crkb,A 5 

([k) dkWMsZVk ds tarqvksa esa ik, tkus okys d'ks#dksa ds 

izdkjksa dk o.kZu dhft,A 5 

6- (d) vfLFky ehuksa dh ih;w"k (fiV~;wVjh) dk fp= dh 

lgk;rk ls o.kZu dhft,A 5 

([k) ikoyo ds Dykfldy@fpjizfrf"Br ijh{k.k dh n`f"V 

ls lkgp;Z vf/kxe (lh[kus) dk o.kZu dhft,A 5 

7- tarqvksa esa vuqgj.k (fefeØh) ds fofHkUu rjhdksa dh 

foospuk dhft, ftuds }kjk os viuh vkSj vius cPpksa dh 

lqj{kk djrs gSaA  10 

8- fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡ fyf[k, % 

2×5=10 

(d) tyh; thoksa esa izfr/ofu fu/kkZj.k 

([k) Lrfu;ksa esa fo'ks"khÏr nar 

(x) d'ks#dh thoksa esa ?kzk.k vax@?kzk.ksfUæ;k¡ 

(?k) thfor thok'e 

× × × × × 

 


